

Summation Formulas Involving Second-order Recurrent Sequences

Hu Hong

(Department of Mathematics , Huaiyin Teachers College , Huaian 223300 , China)

Abstract Let $\{w_n\}$ be a second-order recurrence sequence and let n be integers. According to the definition and characteristics of the second-order recurrent sequences , the involving second-order recurrent sequences sums $S_{m,k}$ and $T_{m,k}$ are defined. The sums $S_{m,k}$ and $T_{m,k}$ are studied. The recursion formulas of $S_{m,k}$ and $T_{m,k}$ are determined. The conclusion extends two result from Melham R S.

Key words second-order recurrent sequences , Lucas numbers , companion sequence

CLC number O156.1 **Document code** A **Article ID** 1001-4616(2006)03-0025-04

关于二阶线性递归序列乘积的和式

胡 宏

(淮阴师范学院数学系 , 江苏 淮安 223300)

[摘要] 设 $\{w_n\}$ 是二阶线性递归序列 , n 为整数. 根据二阶线性递归序列的定义和性质 , 给出了关于二阶线性递归序列乘积的和式 $S_{m,k}, T_{m,k}$ 的定义 , 研究了关于二阶线性递归序列的和式 $S_{m,k}, T_{m,k}$, 得到了关于和式 $S_{m,k}, T_{m,k}$ 的重要结论. 本文的主要结论推广了 Melham R S 的二个结果.

[关键词] 二阶线性递归序列 , Lucas 序列 , 伴随序列

0 Introduction

Let \mathbf{Z} and \mathbf{R} denote the sets of the integers and real numbers , respectively. Let $\mathbf{R}^* = \mathbf{R} \setminus \{0\}$. Fix $p, q \in \mathbf{R}^*$, and let $\mathcal{A}(p, q)$ consist of all those second-order recurrent sequences $\{w_n\}_{n \in \mathbf{Z}}$ of complex numbers satisfying the recursion :

$$w_{n+2} = pw_{n+1} - qw_n, w_0 = a, w_1 = b \text{ for } n = 0, \pm 1, \pm 2, \dots \tag{1}$$

Write $\Delta = p^2 - 4q$. If $\Delta \geq 0$, then it is known that(see [1])

$$w_n = \frac{A\alpha^n - B\beta^n}{\alpha - \beta}, \tag{2}$$

where $\alpha = (p + \sqrt{\Delta})/2, \beta = (p - \sqrt{\Delta})/2, A = b - a\beta$, and $B = b - a\alpha$.

In [2, 3] , Melham defined a sequence $\{W_n\}$ in the special case $q = -1$.

The Lucas sequences $\{u_n\}_{n \in \mathbf{Z}}$ and $\{v_n\}_{n \in \mathbf{Z}}$ in $\mathcal{A}(p, q)$ take special values at $n = 0$ and 1 , namely ,

$$u_0 = 0, \mu_1 = 1, \nu_0 = 2, \nu_2 = p. \tag{3}$$

It is well known that

$$(\alpha - \beta)u_n = \alpha^n - \beta^n \text{ and } v_n = \alpha^n + \beta^n \text{ for } n \in \mathbf{Z}. \tag{4}$$

Received date : 2005-09-28.

Foundation item : Supported by the Natural Science Foundation of Educational Department of Jiangsu Province(04KJD110032).

Biography : Hu Hong , female , born in 1967 , associate professor , majord in combinatorial math and number theory. E-mail : hysyhh@163.com

万方数据

— 25 —

If $q = -1$ Melham^[2,3] defined $U_n = u_n$ and $V_n = v_n$.

If $p = 1$ and $q = -1$, then those $F_n = u_n$ and $L_n = v_n$ are called Fibonacci numbers and Lucas numbers, respectively.

We define a companion sequence $\{\bar{w}_n\}$ of $\{w_n\}$ as

$$\bar{w}_n = A\alpha^n + B\beta^n. \quad (5)$$

Aspects of this sequence have been treated, for example, in [4] and [5].

From (2) and (5) we see that $\bar{u}_n = v_n$ and $\bar{v}_n = \Delta u_n$.

The purpose of this paper is to investigate the infinite sums

$$S_{k\ m} = \sum_{n=1}^{\infty} \frac{q^{kn} \bar{w}_{k(n+m)}}{w_{kn} w_{k(n+m)} w_{k(n+2m)}}, \quad (6)$$

$$T_{k\ m} = \sum_{n=1}^{\infty} \frac{q^{2kn}}{w_{kn} w_{k(n+m)} w_{k(n+2m)} w_{k(n+3m)}}, \quad (7)$$

where k and m are positive integers, and $w_{k(n+im)} \neq 0$ for $i = 0, 1, 2, 3$.

If $q = -1$ and $2 \mid k$, we have

$$S_{k\ m} = \sum_{n=1}^{\infty} \frac{\bar{W}_{k(n+m)}}{W_{kn} W_{k(n+m)} W_{k(n+2m)}}, \quad (8)$$

$$T_{k\ m} = \sum_{n=1}^{\infty} \frac{1}{W_{kn} W_{k(n+m)} W_{k(n+2m)} W_{k(n+3m)}}. \quad (9)$$

In [2,3], Melham gave the formulas for $S_{k\ m}$ and $T_{k\ m}$ in the special case $q = -1$ and $2 \mid k$. In this paper we generalize Melham's results under the conditions that p and q are nonzero real numbers, and k is a positive integer.

1 Preliminary Results

We require the following, in which k and m are taken to be integers.

$$\frac{\beta^{kn}}{w_{kn}} - \frac{\beta^{k(n+m)}}{w_{k(n+m)}} = \frac{Aq^{kn} u_{km}}{w_{kn} w_{k(n+m)}}, \quad (10)$$

$$w_{k(n+m)} w_{k(n+2m)} - w_{kn} w_{k(n+3m)} = ABq^{kn} u_{km} u_{2km}, \quad (11)$$

$$w_{n+k} - q^k w_{n-k} = \bar{w}_n u_k, \quad (12)$$

$$B\beta^n = w_{n+1} - \alpha w_n. \quad (13)$$

Identities (10) and (11) are readily proved using (2) and (5). Identity (12) can be obtained from [4], while (13) can be obtained from [6].

We will also make use of the following lemma:

Lemma 1 Let k and m be positive integers, then

$$\sum_{n=1}^{\infty} \frac{q^{kn}}{w_{kn} w_{k(n+m)}} = \frac{1}{ABu_{km}} \left[\sum_{n=1}^m \frac{w_{kn+1}}{w_{kn}} - m\alpha \right]. \quad (14)$$

Proof If summing both sides of (10), we obtain

$$\sum_{n=1}^{\infty} \frac{q^{kn}}{w_{kn} w_{k(n+m)}} = \sum_{n=1}^{\infty} \frac{1}{Au_{km}} \left(\frac{\beta^{kn}}{w_{kn}} - \frac{\beta^{k(n+m)}}{w_{k(n+m)}} \right) = \sum_{n=1}^m \frac{1}{Au_{km}} \frac{\beta^{kn}}{w_{kn}}$$

and (14) follows from (13).

Remark 1 Theorem 3 of [7] is essentially our (14) in the special case $m = 1$.

2 Main Results

Our main results can now be given in two theorems.

Theorem 1 Let k and m be positive integers, then

$$S_{k\ m} = \frac{1}{u_{km}} \sum_{n=1}^m \frac{q^{kn}}{w_{kn} w_{k(n+m)}}. \quad (15)$$

Proof Let k and m be positive integers. Setting

$$I = \frac{\beta^{kn}}{w_{kn}} - \frac{\beta^{k(n+m)}}{w_{k(n+m)}} + \frac{\beta^{k(n+2m)}}{w_{k(n+2m)}}, \quad (16)$$

and using (10) we get

$$I = \frac{Aq^{kn}u_{km}}{w_{kn}w_{k(n+m)}} + \frac{\beta^{k(n+2m)}}{w_{k(n+2m)}}, \quad (17)$$

and

$$I = \frac{\beta^{kn}}{w_{kn}} - \left[\frac{\beta^{k(n+m)}}{w_{k(n+m)}} - \frac{\beta^{k(n+2m)}}{w_{k(n+2m)}} \right] = \frac{\beta^{kn}}{w_{kn}} - \frac{Aq^{k(n+m)}u_{km}}{w_{k(n+m)}w_{k(n+2m)}}. \quad (18)$$

From (17) and (18), we have

$$2I = \frac{\beta^{kn}}{w_{kn}} + \frac{\beta^{k(n+2m)}}{w_{k(n+2m)}} + \frac{Aq^{kn}u_{km}}{w_{kn}w_{k(n+m)}} - \frac{Aq^{k(n+m)}u_{km}}{w_{k(n+m)}w_{k(n+2m)}}. \quad (19)$$

Now, by (12), we have

$$\frac{Aq^{kn}u_{km}}{w_{kn}w_{k(n+m)}} - \frac{Aq^{k(n+m)}u_{km}}{w_{k(n+m)}w_{k(n+2m)}} = \frac{Aq^{kn}u_{km}(w_{k(n+2m)} - q^{km}w_{kn})}{w_{kn}w_{k(n+m)}w_{k(n+2m)}} = \frac{Aq^{kn}u_{km}^2 \bar{w}_{k(n+m)}}{w_{kn}w_{k(n+m)}w_{k(n+2m)}}. \quad (20)$$

Thus

$$2I = \frac{\beta^{kn}}{w_{kn}} + \frac{\beta^{k(n+2m)}}{w_{k(n+2m)}} + \frac{Aq^{kn}u_{km}^2 \bar{w}_{k(n+m)}}{w_{kn}w_{k(n+m)}w_{k(n+2m)}},$$

so

$$\frac{Aq^{kn}u_{km}^2 \bar{w}_{k(n+m)}}{w_{kn}w_{k(n+m)}w_{k(n+2m)}} = \left[\frac{\beta^{kn}}{w_{kn}} - \frac{\beta^{k(n+m)}}{w_{k(n+m)}} \right] - \left[\frac{\beta^{k(n+m)}}{w_{k(n+m)}} - \frac{\beta^{k(n+2m)}}{w_{k(n+2m)}} \right]. \quad (21)$$

Finally, summing both sides of (21), we obtain

$$Au_{km}^2 S_{k,m} = \sum_{n=1}^m \frac{\beta^{kn}}{w_{kn}} - \sum_{n=1}^m \frac{\beta^{k(n+m)}}{w_{k(n+m)}}$$

and (15) follows from (10).

If we take $m=1$ and put $w_n = u_n$ and $w_n = v_n$, respectively, then (15) becomes

Corollary 1 Let k be a positive integer, then

$$\sum_{n=1}^{\infty} \frac{q^{kn}v_{k(n+1)}}{u_{kn}u_{k(n+1)}u_{k(n+2)}} = \frac{q^k}{u_k^3 v_k}, \quad (22)$$

and

$$\sum_{n=1}^{\infty} \frac{q^{kn}u_{k(n+1)}}{v_{kn}v_{k(n+1)}v_{k(n+2)}} = \frac{q^k}{\Delta u_{4k}}. \quad (23)$$

If we put $k=1$, (22) and (23) become

$$\sum_{n=1}^{\infty} \frac{q^n v_{n+1}}{u_n u_{n+1} u_{n+2}} = \frac{q}{p}, \quad (24)$$

and

$$\sum_{n=1}^{\infty} \frac{q^n u_{n+1}}{v_n v_{n+1} v_{n+2}} = \frac{q}{(p^2 - 4q)(p^3 - 2pq)}. \quad (25)$$

If we put $u_n = F_n$ and $v_n = L_n$, (24) and (25) become

$$\sum_{n=1}^{\infty} \frac{(-1)^n L_{n+1}}{F_n F_{n+1} F_{n+2}} = -1, \quad (26)$$

and

$$\sum_{n=1}^{\infty} \frac{(-1)^n F_{n+1}}{L_n L_{n+1} L_{n+2}} = -\frac{1}{15}. \quad (27)$$

Remark 2 (3.7) and (3.8) of Melham^[3] are essentially our (22) and (23) in the special case $u_n =$

F_n , $v_n = L_n$ and $k=2$.

Theorem 2 Let k and m be positive integers , then

$$ABu_{km}u_{2km}T_{k\ m} = \frac{1}{AB}\left[\frac{1}{u_{3km}}\sum_{n=1}^{3m}\frac{w_{kn+1}}{w_{kn}} - \frac{1}{q^{km}u_{km}}\sum_{n=1}^m\frac{w_{kn+1}}{w_{kn}}\right] + \sum_{n=1}^m\frac{q^{k(n-m)}}{w_{kn}w_{k(n+m)}} + \frac{m\alpha}{AB}\left[\frac{1}{q^{km}u_{km}} - \frac{1}{u_{3km}}\right]. \quad (28)$$

Proof From (11) , we see that

$$\frac{ABq^{2kn}u_{km}u_{2km}}{w_{kn}w_{k(n+m)}w_{k(n+2m)}w_{k(n+3m)}} = \frac{q^{kn}}{w_{kn}w_{k(n+3m)}} - \frac{q^{kn}}{w_{k(n+m)}w_{k(n+2m)}}.$$

Summing both sides we obtain with the aid of (14) ,

$$ABu_{km}u_{2km}T_{k\ m} = \sum_{n=1}^{\infty}\frac{q^{kn}}{w_{kn}w_{k(n+3m)}} - \frac{1}{q^{km}}\sum_{n=1}^{\infty}\frac{q^{k(n+m)}}{w_{k(n+m)}w_{k(n+2m)}} = \frac{1}{ABu_{3km}}\left[\sum_{n=1}^{3m}\frac{w_{kn+1}}{w_{kn}} - 3m\alpha\right] - \frac{1}{ABq^{km}u_{km}}\left[\sum_{n=1}^m\frac{w_{kn+1}}{w_{kn}} - m\alpha\right] + \sum_{n=1}^m\frac{q^{k(n-m)}}{w_{kn}w_{k(n+m)}}$$

which is (28).

If we take $k=1$ and $m=1$, and put $w_n=F_n$ and $w_n=L_n$, respectively , then (28) becomes

Corollary 4
$$\sum_{n=1}^{\infty}\frac{1}{F_nF_{n+1}F_{n+2}F_{n+3}} = \frac{12-5\sqrt{5}}{4}, \quad (29)$$

and

$$\sum_{n=1}^{\infty}\frac{1}{L_nL_{n+1}L_{n+2}L_{n+3}} = \frac{5-2\sqrt{5}}{40}. \quad (30)$$

Remark 3 (3. 10) and (3. 11) of Melham [3] are essentially our (28) in the special case $u_n=F_n$, $v_n=L_n$, $m=1$ and $k=2$.

Remark 4 Theorems 1 and 2 of Melham [3] are essentially our (15) and (28) in the special case $q=-1$ and k is taken to be even integers.

[References]

- [1] Horadam A F. Basic properties of a certain generalized sequence of numbers[J]. The Fibonacci Quarterly , 1965 , 3(3) : 161 - 176.
- [2] Melham R S. Summation of reciprocals which involve products of terms from generalized Fibonacci sequences[J]. The Fibonacci Quarterly , 2000 , 38(4) : 294 - 298.
- [3] Melham R S. Summation of reciprocals which involve products of terms from generalized Fibonacci-part II[J]. The Fibonacci Quarterly , 2001 , 39(3) : 264 - 267.
- [4] Bergum G E , Hoggatt V E Jr. Sums and products for recurring sequences[J]. The Fibonacci Quarterly , 1975 , 13(2) : 115 - 120.
- [5] Long C T. Some Binomial Fibonacci Identities[C]. Bergum Ed G E. In Applications of Fibonacci Numbers 3. Dordrecht : Kluwer , 1990 : 241 - 254.
- [6] André Jeannin R. Summation of reciprocals in certain second-order recurring sequences[J]. The Fibonacci Quarterly , 1997 , 35(1) : 68 - 74.
- [7] Hu Hong , Sun Zhiwei , Liu Jianxin. Reciprocals sums of second-order recurrences sequences[J]. The Fibonacci Quarterly , 2001 , 39(3) : 214 - 220.

[责任编辑 : 陆炳新]